05705-01 EEE RN RERH | T EREHN A @ EH

7= miiEA

ME
Mo

g -
MEEE
it R F R,

BR
05705-01-00800 MIZFEME —NE T KR EH

M4 -
05240
05241
05260
05885-01
05887-01
05888
05280

© norelem www.norelem.com



05705-01 EEE RN RERH | T EREHN A @ EH

a DT
| i /"_"
M | .-' ! 7 \‘
L Rl ¢ " 'l' / I,‘,/ ; T
. 1 : i sl .»/-
1] ] T S
— ! I | s
Q | i e
1 o
| J
(&) D &
)
\ @ \ U i
LAL]S B1
L1 Al B
L
iTH=S EiEA BFHEA BFieh K& REH
FH [l F3
I\ \ \
05705-01-00800 95° 60° 100 800 600
05705-01-02400 90° 70° 150 2400 1200
05705-01-03400 90° 70° 200 3400 1600
05705-01-04400 90° 70° 250 4400 1600
05705-01-05400 100° 50° 280 5400 1800
TS A A1 B | B1 C C1 (674 D H L L1 M
05705-01-00800 12,7 254 |12 6 34,5 9,6 6,4 5,2 116 65,8 28,6 M6x44
05705-01-02400 19 35 12 6 48 17,5 7,5 71 194 87,7 40 M8x50
05705-01-03400 32 50 16 8 64 22 9,5 8,3 240 124,25 65 M10x80
05705-01-04400 32 53 20 10 70,4 25 9,5 8,7 245 138,25 74 M12x100
05705-01-05400 50,8 76,2 |20 10 113,5 31,8 12,7 12,3 335 197,5 107,8 M16x150

© norelem www.norelem.com




